P113 Lecture 10/28/03
[image: image7.png]I,‘ = zMRl
= 2
Ty= 2Ma’s ma’ fu Pocales
= 3 mat Axs Tha
L

2 WAYS To laoic af the Problem »

2v 2)

v v an.:‘a <m
z

VA *

e Ity sy St rotarim About

Axis af PeHoA Where (yliade T
Mt Ho Grocd. el qf Mens
In This case, Vied as & KE, = & mv?
(oTATIng b abt 4xis B L2 =
9 "d‘] Keg = iIo :’;(é“‘ﬂt)!l
& r”
ke: £t To - -‘l'nvz
z
e 2 3 2y V'
= L (2ma’)—=
kE. 2 (Z )nt ke 3 i
- 2 Torgl G
KE = 2 mv

£




[image: image1.png]i\ﬁ s=¢e

view Y-y
gt 4 ey
azen / i

¥
Frma LowsT K eqny
Fomoen
TFz fmrx
oF z Mot
(Y
T T
Poplonfora gl paco
Torgue Momeck of Ensatia
) Tuer = TX /
L (ridwm 2,
T "
T
dapuads o Muss - 0atd

oAty pfdm






[image: image2.png]1 | |

ot

%,Lj

Sl

— Ayound |

Mary M (so kg )
Padis R = (15 can) |
] r""‘"“VAWl‘“‘bV focsant Foamg = (644
Cirewn
Mf—\u""-«‘wh,(n.&, eliad 7 |
—_———

|
Uit Entigeyy nscivatem

K. q) K e TARE Eur = KE,*
0= KE ke, ‘&;..J ‘T

~__—
oKe hd 'E

£,y = KEpy »PEL,

-dke = apr

Ky -Kig g = gy APE = mgh
( *
>





[image: image3.png]v

v TrANS Gk e ombey

v i

= vz R |
@ o Reatim iy ‘
| =
2v
(O
T vio

Viaw
actucl Axisof Sobaiios
ot grinen, aissind !
Thite uf, Mo i ao i
D mAahrointional Mofirn bodtave axis
2) Trawslitional Mot of tlu Sge Axs +
Mssocaded Avrs
Typically - axis passes Tl Codeoofftrs,
S you corn Honke of Pt urs <o lAeay
roawss lakine oﬁ M.

KE. = g_@q“ + JZ-MVL = Mc]f\
L

Coubine Hu two

Y

VERD g0, lenp W

what is T 7
Muck b cndoils o ok o Wble T 3MRY
A M Gaae





[image: image4.png]



[image: image5.png]




[image: image6.png]wty

\_
st
w5,
N
=
T~

<

Tk g Lron totab,)
L ae
T mogh
| he 3

Goen Lidan o Movimy F YV ndd obting hecounar
aptom sudp o7 M KE





